Question No : 1 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Consider the binary number " 100101, its 2's complement will be

-

Answer | Please select your correct option )

100110
o

0110M

correct

100111

011010
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Question No : 2 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

-

The values that exceed the specified range can not be correctly represented and are considered as

Answer | Please select your correct option )

Crvarflo
‘ correct
Carry
o
Parity
A
Sign value
(- -
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Question No : 3 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

-

According to Demorgan’s theorem

A+B+C =

Answer | Please select your correct option )

ABC
-
= A+BC
SEEE
correct
- AB+C
YWede By: Wedgelr Siddhu




Question No : 4 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

If twio numbers in BCD representation generate an invalid BCD number then the binary 15 added to the result

Answer | Please select your correct option )

1001
o

0110

11

1100
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Question No : 5 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The output of an AND gate is one when

-

Answer | Please select your correct option )

All of the inputs are one

2 correct

Any of the input is one

P
Any of the input is zero
-
All the inputs are zero
-
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Question No : 6 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

A standard SOP farm has terms that have all the variables in the domain of the expression.

-

Answer | Please select your correct option )

3um
P
Product
‘ correct
Max
-
Caompoasite
(- -
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Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

A comparator circutt has mulhple mputs and

outputs

-

Answer | Please select your correct option )

‘ correct
: hade By: Bagdar Siddhy




Question No : 8 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

-

An alternate method of implementing Comparators which allows the Comparators to be easily cascaded without the need for extra logic gates 1s

Answer | Please select your correct option )

Using a single comparator
o
Using lterative Circuit based Comparators
o
correct
Connecting comparators in vertical hierarchy
A
Extra logic gates are always required
(- -
Wede By: Wacger Siddhu




Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The active high and active low inputs of 3-to-8 Decoder are as follows

-

Answer | Please select your correct option )

Cine active-high and the remaining two are active-low.
P
correct
Twio active-high and the remaining ane is active-low.
P
All active high
-
All active low
(- -
Wede By: Wacger Siddhu




Question Mo : 10 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

OLMC consists of a

-

Answer | Please select your correct option )

Encoder
P
Decoder
P
Logic Gate
-
Flip-Flop
(- -
correct YWede By: Wedgelr Siddhu




Question Mo : 11 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The Quad Multiplexer has inputs

-

Answer | Please select your correct option )

4
o

correct
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Question No : 12 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

The carry propagation can be expressed as

Answer | Please select your correct option )

o

‘ hade By: Bagdar Siddhy




Question No : 13 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

In the binary number "1100.111", the first bit at the right of decimal point has the weight

Answer | Please select your correct option )

¥ (1 divided by 2)

~

¥ (1 divided by 4)
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Question Mo : 14 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

In the followmng Karmangh map, which group has "legal groupmg" 7

¥ AB
\00 01 11 10 A

| v

Answer | Please select your correct option )

A
P
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Question No : 15 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

-

In CMOS 5 Vaolt series, Input voltage for Logic high signal (Vi) is in the range of volts

Answer | Please select your correct option )

35t0s
= correct
4508
-
Oto &
A
Otods
(- -
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Question Mo : 16 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Frogrammable Array Logic (PAL) has input{s) and

output(s)

-

Answer | Please select your correct option )

Single, multiple
o
MWultiple, single
o
Single, single
A
Willtiple, multiple
(- -
gorrect hade By: Wagear Siddhu




Question Mo : 17 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

An eguivalent ABEL natation of Boolean expression A+B is

-

Answer | Please select your correct option )

ARB
AlB
A#EB
. correct
AtE
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Question Mo : 18 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

YWhich circuit has the following Sum and CarryOut expressions?
Sum=A®E®C
CarryOut = CLA®E) + AB

-

Answer | Please select your correct option )

Half Adder
A

Full Adder

3-bit parallel adder

WSl adder cicuit
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Question Mo : 19 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Inputs  Qutput
ABC X

0o 0
01 1
10 0

ocoo

From the truth table below, determune the standard SOP expression

| v

Answer | Please select your correct option )

- ABC+ ABC + ABC

ABCT + ABC + ABC

correct

(A+B+CHA+B+ YA+ E+O)

(A+F+CA+ B+ +(A+B+TY
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Question Mo : 20 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The Boolean expression for the logic circut 15
S I
D

»4-’4/&___\

L >

E

| v

Answer | Please select your correct option )

AB+CDE
P

(4+B)CDE

correct

(4+B)+HCDE)

(AFB)(CDHE)
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Question Mo : 20 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

S
D

E

-

Answer | Please select your correct option )

AB+HCDE
-
(4+B)CDE
-
correct
(A+BIHCDE)
A
(A+B)(CDHE)
(- -—
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Marks: 2 (Budgeted Time 4 Min)

Question No : 21 of 26

How many possible outputs dees a decoder of 3 mputs contam?

Answer | Please click here to Add Answer )

I | =12

|Nurmal
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Question No : 22 of 26

Marks: 2 (Budgeted Time 4 Min) (=]

“Wrte down four uses of multiplexers.

~

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 g"é_ :

Yede By: Wadgelr Siddhu




Question No : 23 of 26

Marks: 3 (Budgeted Time 6 Min) (=]

For a two bit comparator circutt, specify all the inputs for which the output & =B 15 set to 1.

~

Answer | Please click here to Add Answer )

O E S| e e & e o=
Jtiarmal I | =z =i H‘gfﬁ =
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Question No : 24 of 26

Marks: 3 (Budgeted Time 6 Min) (=]

Idenhfy the followmng crcuit that 15 which combmational circwt 15 bemg represented by this diagram?

b D o,
1

] -

I

I

1

2 vi o

3,

. >

-

Answer | Please click here to Add Answer )

O E S| e e & e o=

|Nurmal L”Ar\al L||12 ;I B 7 g‘
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Question No : 25 of 26

Marks: 5 (Budgeted Time 10 Min)  [=]

Map the followang POS expression on a karnaugh map:
(A+B+C+IMNA+B+T+ DNA+B+C+INA+ B+ T+ DA+ B+ T+ D)

-

Answer | Please click here to Add Answer )

O E S| e e & e o=

|Nurmal L”Ar\al L||12 ;I B 7 g‘
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Question No : 26 of 26 Marks: 5 (Budgeted Time 10 Min)  [=]

A programmed array 15 shown m Figure below. The mtact fusible nk, are ndicated by small red 3s. Absence of an 3 means that the fuse 15 open. Analyze the Sgure below and write the output =
EXPIESSION.

Answer | Please click here to Add Answer )

O E S| e e & e o=
[riormal =] [ara | =

Yede By: Wadgelr Siddhu




Question No : 26 of 26 Marks: 5 (Budgeted Time 10 Min)  [=]

T :
H oDl

Ll ) #,\_DJ%)

S

Answer | Please click here to Add Answer )

OB a] = o |G R) o =
[Farmel | BT =iz =Hienuls = |
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